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Carefully read the instructions given on Question Paper,
OMR Sheet and Answer Sheet.
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Question Paper is in Hindi and English language.
Candidate can choose to answer in any one of the language.
(i.e., either Hindi or English)

TH A/ TR F S U € | 9 Tk H AR T R 9
2 H ute T ¥

There are TWO PARTS in this Module/Paper. PART ONE
contains FOUR questions and PART TWO contains FIVE
questions.

T Ueh ‘' Shfeush '’ YR 1§ faeh Fd i 40 § qen
YNT & AR’ YhR 1 € IR 38 Pt 3k 60 |

PART ONE is Objective type and carries 40 Marks.
PART TWO is Subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER
SHEET only. PART ONE is NOT to be answered in the
answer book for PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR.
Answer book for PART TWO will be supplied at the table
when the Answer Sheet for PART ONE is returned.
However, Candidates who complete PART ONE earlier
than one hour, can collect the answer book for PART TWO
immediately after handing over the Answer Sheet for
PART ONE to the Invigilator.
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Candidate cannot leave the examination hall/room
without signing on the attendance sheet and handing over
his/her Answer Sheet to the Invigilator. Failing in doing
so, will amount to disqualification of Candidate in this

Module/Paper.
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After receiving the instruction to open the booklet and
before starting to answer the questions, the candidate should

ensure that the Question Booklet is complete in all respect.
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Note : In case of any discrepancy found in Hindi version, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




UTT Uk / PART ONE

(T U9l o ST S / Answer all the questions )

1.

1.1

1.2

el Ucieh U9 oh ST ok ohg (aehed QU T
¥ T Tew Suge fasew =+ o @
9 U oh |1 SUeTeR] Shild T ST’
I YA , 30 fqU T Fdem o e,
T @ (1x10)
Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the “OMR”
answer sheet supplied with the question
paper, following instructions therein.

Tfee fra o1 @ SwEs § fouere 9 T
TR H TR I F fau it
@MU |

(A) Ctrl 3RV

(B) Ctrl R X

(C) Ctl 3RS

(D) Ctrl 3R P

To paste text from the clipboard in the
document being edited, press the keys :
(A) Ctrland V

(B) Ctrl and X

(€) Ctrland S

(D) Ctland P

frefafed § § F W1 T 3Ye feaeg ® 2
(A) ®RH

(B) wHiwd

(C) HHEIE

(D) fix

Which of the following is an input

device ?

(A) Screen
(B) Speakers
(C©) Keyboard
(D)

D) Printer

1.3

1.4

1.5

frafafad wea foar § 9 a0 a8 gfed
Yl ® foh e Ue H o T § 2

(A) et

(B) Sl

(©) wwdF

(D) et

Which of the following file extensions
indicate file created in Paint ?

BMP

B) DOC

STK

PPT

OTP &1 J0f &9 T :

(A) =1 IEH qHAS

(B) oW TS ZdRH YHAS
(C) &I 213H UrEee

(D) ST HIE Tl

OTP stand for :

(A) One time password

B) Once and twice password

(
©)
(D)

On time password

D) None of the above

THAH CCH QUi ®U 7 :
(A) HEA HF

(B) IS whIdl

(C) hHret whidl

(D) 1 FH

CC in E-mail stand for :

(A) Carbon catch

(B) Carbon copy
(C) Consider copy
(D) Carbon coupon
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1.6

1.7

1.8

STRE T JANT hid THT AT YT hid h
f?l"{, a1 foreten i ¢

(A) F1Fsi

(B) F3Fsil

(C) F23Fsit

(D) F4 il

To get Help when using Office, you would
click the :

(A) F1 Key
(B) F3 Key
(©) F2Key
(D) F4 Key

IPV4 1 TR ®
(A) 32

(B) 48

C) 62

(D) 128

Size of IPV4 is :
(A) 32

B) 48

foTsl SR o oTeh UTiehdial Sl 95 WS
fou frafafed A S e MTH AR ?
(A) =®R-3H

(B) ¥ TS

(C) i Hifeha

(D) Hifém

Which of the following is a tool to send
letter to many recipients in Libre office ?

(A) What-if

(B) Mail merge
(C) Goal seeking
(D) Sorting

hl 3qleU % :

(A) 3-Hd JoTett

(B) fo&=d TwitehyH
(C) I Aeafeht

(D) &9 FERC

Twitter is example of :
(A) E-mail system

(B) System application
(©) Social networking

(D) Web URL

1.10 ffafed § ¥ & o9 99, T99 99 3iR

T HE HRRX HI Hefid Far T ?

(A) TEHTA HIR

Which of the following refers to the fastest,
biggest and most expensive computer ?

(A) Personal Computer
(B) Laptops
(C) Super computer

(D) Notebook
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2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

o faa T yde faawor o o W ¥
YT TTAd | Teh Had Iuger fashed <A
3T SH U9 UF o GIY SUARI i T
" femeR " IeR e o, S fau e
& ITER, Tt i | (1x10)

TR T Teh 3Eeh4 SN 1R T8 wiEall &
feru sreee umor v o fefud o €, sS4
JHEeRe T el ST € |

3TeHIGIE Hel ThidT gHen Weeie § 349 a4
! Hefiq s g

ATRfaT fgeen e fafyre grEaer §1

2. TE. M. STANTRAT ol IS HARM YSH
&l X Gehal |

I, U137, o HILAH 9 - A TR ST Hehd]
gl

forTeRe Hivrel Seafeht sl Teh 3SR § |

S ETaH hl J2a ¢ |

2-Tel IRehd Al

HISTg BlTdTe sh1 TN E STANTHA h |1
geTe IR LA o foru &1 foparn 11 et |

2.10 39 T o Fl TERGH Ti H Tohd |

2.1

2.2

2.3

24

2.5

2.6

2.7

2.8

2.9

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and ENTER in the “OMR” answer sheet
supplied with the question paper,
following instructions therein.

(1x10)

An icon on the desktop that represents a
temporary holding place for files that are
deleted is called as Recycle Bin.

Absolute cell referencing always refer to
the same cell in spreadsheet.

Operating System is a specific hardware.

ISP cannot provide internet connection to
user.

e-payment can be done through UPIL

Flipkartis a example of Social Networking.

Internet is network of networks.

E-mail is elegant mail.

Mobile Hot Spot cannot be used to share
internet with other user.

2.10 You cannot hyperlink to a picture.
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3. whiem X U fau 7w viss) iR arerit okt faems e Y o fou o ferean wweifia et/ vissi/
TRl | & | AU faeher U9 U & 9y fau T sfine SR uAwk W, 36 fou e

TRV T UTETT YA §U, T ot | (1x10)
X Y
3.1 CTRL+X A T JoTedt
g ifedl BE GUE & & T T ~ .
3.2 B Hllslod] Dl il
TEd B B
i3 www e § Jdeh Higd 370l c . L.
. WYIERIG! !
& e w3 foran SH ot U ie TR R
3.4 T fafeeT # Hifid segeX Jeas D I I forg
35 | SiHd E FEAW
3.6 e SISST hT ISR F =y giwgeR
T g- &
3.7 CERAFECT | e st i
@I S HhdT B
38 | IOT H WAN
fafsre oA & fou fasfag
3.9 fer I g-aicie
T&AThTH
HIX oft wiT 59 319 ifdes
3.10 ’waﬁﬁ o m ] forel TR o e ai=mem
w9 T o931 T Gehd ¥
K MP4
L ISR
M TRl
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3.  Match words and phrases in column X with the closest related meaning / word(s) /phrases

in column Y. Enter your selection in the “OMR” answer sheet supplied with the question

paper, following instructions therein. (1x10)
X Y
3.1 CTRL+X E-mail system
3.2 It is a file format to store video file Mozilla Firefox
Protocol used for network file o
3.3 . ) Application Software
transfers in the www environment
Computer network limited in a )
3.4 o Internet of Things
building
3.5 gmail Hardware
3.6 Example of web browser System Software
3.7 Money can be kept for e-payment in Intranet of Things
3.8 10T WAN
3.9 Developed Applications for specific ewallet
purpose
3.10 Any part of the computer which Cut Operation in Libre
) you can physically touch Office
MP4
LAN
HTTP
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4. o Uk 9T U 9 & TE Gt 9 Ueh 1SS AT 919 hi T ok fote faa e ¥ ges
U faehed I 317 30 U9-uF o WY feu T ¢ SNTHIAR ' S Uk W, 36 U T e

h IER, T L | (1x10)
A. |Fa gregd B. [s1ewie C. [32

D. |9 sTfueeH E. [g%m F. [128

G. [SeF ™ H. [CUT L [SHTTH

J. [EEeR K. |wiHe dex L. |CAT

M. [wES

4.1 -9 F WY I T Teh TASI e SETaS bl ETIASIG

4.2 T R foen & Aga Heggd &l el [ T

4.3 U IR As=hy g

4.4 TR TRAR § fodTaTd, STHRTeRdl o1 Teh eSS hl a1 § ST 9 ST

4.

4.

4.

4.

4.

5

6

7

8

9

% faq a & it oHfd <t ¥ |
F AN § HEEd W -39 998 9T T |
TG § U sl 7 ¥

IPV6 1 3R foe %1

e TR e et SiR oo i ¥, 3TORTY o &9 H ST @ 7 |

THHTET hl Teh T | iU hleh 34 GO M W AN T |

410 T it PRad R I R el s e waic®
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4. Each statement below has a blank space to fit one of the word(s) or phrase(s) in the

list below. Enter your choice in the “OMR” answer sheet attached to the question

paper, following instructions therein. (1x10)
A. |Kernel Module B. |Attachment C. |32
D. |Page Orientation E. [Bookmark F. (128
G. |UDAAN APP H. |[CUT I. |UMANG APP
J. |Cyber K. |Format Painter L. |CAT
M. (Slide
4.1 An electronic document sent with the E-mail is termed as
4.2 The central module of an operating system is called
4.3 Portrait and Landscape are
4.4 The features in Internet Explorer, allows a user to save a website on a list
for easy access later.
4.5 Accessing e-Governance Services on Mobile using
4.6 is an electronic page in a presentation.
4.7 Size of IPV6 is bit.
4.8 Crime that involves computer and network is known as crime.
4.9 will copy formatting from one place and apply it to another.
4.10 The command to view the contents of a file in LINUX is
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5. (a)

T & / PART TWO
(fordl = uvsit & ST/

Answer any four questions)

R foeH 1 T A 3TRE TR
= o1 ferf¥r =eenl o Sudm =it e o
ST Y |

Teran SAiftRe i # Sfiemifes Wieedm
e 3R sTiEmfes TR AT i HH
o 3R AfFa FW T ?

Draw an internal diagram of
computer system and explain in brief

the application of various
components.

How to turn off and activate
automatic spelling checking and
automatic grammar checking in
Libra Office programs ? (8+7)

TreTet HeAfeh WIged % 1Y SR gt
FAE ? HIYA e H1ge & < 3200
=

siatifed fen YoM za & STM 9
faere § fetar UIeier=a ol Uaiel vl shid
g2

T &d@ : LAN, WAN, MAN

What are advantages and
disadvantages of social networking
sites ? Give two examples of social
networking site.

How to manage disk partitions on
windows using inbuilt disk
management tool ?

Differentiate : LAN, WAN, MAN.
(7+3+5)

frefafad foxita srsai =t 9w < -
() whfee iR Sfae #E

(i) WS,

(i) d.eTE

Gredie 4 s QW HH e 2 SRR

T2T WY, ST hi TR W FH STIEH
i ST |

3-A9 ®wIH & fau ®w fad |
3-HA-3TES 1§ 3R 3-7A | SHH
A ST ?

Define the following financial terms.
(i) Credit and Debit card

(i) UPI

(iif) PoS

What is an array formula in
Spreadsheet ? By taking suitable
data, explain sum operation on
array of data.

Write steps to do E-mail. What is
E-mail-id and its uses in E-mail ?

(6+4+5)
TS H Telge ZISeM 6 WA Sy fhan
SATE |
e ¥ e w1 HifsEw Sua
ferepr’’ |
foran SAffRe Wget § afetHmh wiHa et
& foI = ford |
Explain how slide transition is used
in ppt.

Explain briefly “Intellectual Property
Rights”.

Write steps to add watermark in
Libra Office Writer. (5+5+5)
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9. Temmdl M W Hftre feoaforr fomg
(a) =gt fanfaed
(b) 3Te S U™
(c) HRRSR gad
(d) TR FIE 3R TR ITAM
(e) wATeha eHTATSIt
Write short notes on any three :
(a) Virtual Reality

b) Internet of Things

¢) Cyber Security

d) QR Code and its application
e) Blockchain Technology (5+5+5)

-00o0-
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